Some Symmetry Identities for the Euler Polynomials

Sheng Liang YANG^{1,*}, Zhan Ke QIAO²

- 1. Department of Applied Mathematics, Lanzhou University of Technology, Gansu 730050, P. R. China;
- 2. Department of Mathematics, Suzhou University of Science and Technology,

Jiangsu 215009, P. R. China

Abstract Using the generating functions, we prove some symmetry identities for the Euler polynomials and higher order Euler polynomials, which generalize the multiplication theorem for the Euler polynomials. Also we obtain some relations between the Bernoulli polynomials, Euler polynomials, power sum, alternating sum and Genocchi numbers.

Keywords Euler polynomial; Bernoulli number; Bernoulli polynomial; Genocchi number; power sum; alternating sum.

Document code A

MR(2000) Subject Classification 05A15; 05A19; 11B68

Chinese Library Classification 0157.1

1. Introduction

The Bernoulli numbers B_n and the Bernoulli polynomials $B_n(x)$ are defined by the exponential generating functions

$$\sum_{n=0}^{\infty} B_n \frac{t^n}{n!} = \frac{t}{e^t - 1},\tag{1}$$

and

$$\sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!} = \frac{te^{tx}}{e^t - 1},\tag{2}$$

respectively. The Bernoulli numbers B_n satisfy the recurrence relation $\sum_{i=0}^{n} {n+1 \choose i} B_i = 0$ for all n > 0 with $B_0 = 1$, and the explicit formula for the Bernoulli polynomial is $B_n(x) = \sum_{i=0}^{n} {n \choose i} B_i x^{n-i}$.

For each integer $k \ge 0$, $S_k(n) = 0^k + 1^k + 2^k + \cdots + (n-1)^k$ is called sum of integer powers, or simply power sum. It is well known that $S_k(n) = \sum_{i=0}^{n-1} i^k$ is a polynomial in n of degree k+1 (see [1,2]):

$$S_k(n) = \frac{1}{k+1} \sum_{i=0}^k B_i \binom{k+1}{i} n^{k+1-i},$$
(3)

Received December 31, 2007; Accepted July 7, 2008

Supported by the Natural Science Foundation of Gansu Province (Grant No. 3ZS041-A25-007).

* Corresponding author

E-mail address: slyang@lut.cn (S. L. YANG)

which is called the power sum polynomial. The exponential generating function for $S_k(n)$ is [2]

$$\sum_{k=0}^{\infty} S_k(n) \frac{t^k}{k!} = 1 + e^t + e^{2t} + \dots + e^{(n-1)t} = \frac{e^{nt} - 1}{e^t - 1}.$$
 (4)

Deeba and Rodriguez [3] and Gessel [4] proved the following recurrence

$$B_n = \frac{1}{a(1-a^n)} \sum_{k=0}^{n-1} a^k \binom{n}{k} B_k S_{n-k}(a), \tag{5}$$

which is true for any positive integer n and any positive integer a > 1.

Howard [5] showed that (5) is a consequence of the multiplication theorem for the Bernoulli polynomials. The multiplication theorem can be stated this way: If n and a are positive integers, then

$$a^{1-n}B_n(ax) = \sum_{i=0}^{a-1} B_n(x + \frac{i}{a}).$$
 (6)

Tuenter [6] obtained a relation of symmetry between the power sum and the Bernoulli numbers, and also showed that the recurrence (5) is a special case of the relation. This relation can be stated as the following identity, which is symmetric in a and b

$$\sum_{i=0}^{n} \binom{n}{i} a^{i-1} B_i b^{n-i} S_{n-i}(a) = \sum_{i=0}^{n} \binom{n}{i} b^{i-1} B_i a^{n-i} S_{n-i}(b), \ a, b > 0, n \ge 0.$$
 (7)

In [7], we generalize this relation of symmetry between the power sum polynomials and the Bernoulli numbers to the relations between the power sum polynomials and the Bernoulli polynomials in two ways. The aim of the present paper is to generalize the symmetric relation to the Euler polynomials, alternating sum, and Genocchi numbers.

For integers $k \geq 0$ and $n \geq 1$, the alternating sum $T_k(n)$ is defined by

$$T_k(n) = \sum_{r=0}^{n-1} (-1)^r r^k = 0^k - 1^k + 2^k - \dots + (-1)^{n-1} (n-1)^k,$$
 (8)

and the generating function is

$$\sum_{k=0}^{\infty} T_k(n) \frac{t^k}{k!} = \frac{1 - (-1)^n e^{nt}}{1 + e^t}.$$
 (9)

The Euler polynomials $E_n(x)$ and Genocchi numbers G_n are defined by means of the following generating functions:

$$\sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!} = \frac{2e^{tx}}{e^t + 1},\tag{10}$$

and

$$\sum_{n=0}^{\infty} G_n \frac{t^n}{n!} = \frac{2t}{e^t + 1},\tag{11}$$

respectively. The following formulas (12)–(14) are well known [5]:

$$G_n = 2(1 - 2^n)B_n, (12)$$

$$E_n(x) = \sum_{k=0}^n \binom{n}{k} \frac{G_{k+1}}{k+1} x^{n-k},$$
(13)

$$(n-n^m)G_m = \sum_{k=0}^{m-1} {m \choose k} n^k G_k T_{m-k}(n), \ m > 1, \ n > 1, \ \text{and } n \text{ odd} \ .$$
 (14)

The multiplication theorem for $E_m(x)$, for a odd, is [5]:

$$\sum_{i=0}^{a-1} (-1)^i E_m(x + \frac{i}{a}) = a^{-m} E_m(ax), \tag{15}$$

and the multiplication theorem for $E_m(x)$, for a even, is [5]:

$$\sum_{i=0}^{a-1} (-1)^i B_{m+1}(x + \frac{i}{a}) = -\frac{1}{2} (m+1) a^{-m} E_m(ax).$$
 (16)

In this paper, we prove some symmetry identities for the Euler polynomials and higher order Euler polynomials, which generalize the multiplication theorems for the Euler polynomials. We obtain some relations between the Bernoulli polynomials, Euler polynomials, power sum, alternating sum, and Genocchi numbers.

2. Some symmetry identities for the Euler polynomials

We shall prove the following theorem for the Euler polynomials, which are symmetric in a and b.

Theorem 2.1 Let a and b be positive integers with the same parity. Then

$$\sum_{i=0}^{a-1} (-1)^i a^m E_m(bx + \frac{b}{a}i) = \sum_{i=0}^{b-1} (-1)^i b^m E_m(ax + \frac{a}{b}i).$$
 (17)

Proof Let $f(t) = \frac{2e^{abxt}}{e^{at}+1} \cdot \frac{1+(-1)^{a+1}e^{abt}}{e^{bt}+1}$. Then

$$f(t) = \frac{2e^{abxt}}{e^{at} + 1} \cdot \frac{1 - (-e^{bt})^a}{e^{bt} + 1} = \frac{2e^{abxt}}{e^{at} + 1} \cdot \sum_{i=0}^{a-1} (-e^{bt})^i = \sum_{i=0}^{a-1} (-1)^i \frac{2e^{(bx + \frac{b}{a}i)at}}{e^{at} + 1}$$
$$= \sum_{i=0}^{a-1} (-1)^i \sum_{m=0}^{\infty} E_m(bx + \frac{b}{a}i)a^m \frac{t^m}{m!} = \sum_{m=0}^{\infty} \left(\sum_{i=0}^{a-1} (-1)^i a^m E_m(bx + \frac{b}{a}i)\right) \frac{t^m}{m!}.$$

Since $(-1)^{a+1} = (-1)^{b+1}$, the expression for $f(t) = \frac{2e^{abxt}}{e^{at}+1} \cdot \frac{1+(-1)^{a+1}e^{abt}}{e^{bt}+1}$ is symmetric in a and b. Therefore, we obtain the following power series expansion for f(t) by symmetry:

$$f(t) = \sum_{m=0}^{\infty} \left(\sum_{i=0}^{b-1} (-1)^i b^m E_m(ax + \frac{a}{b}i) \right) \frac{t^m}{m!}.$$

Equating the coefficients of $\frac{t^m}{m!}$ in the two expressions for f(t) gives us the desired result. \square Replacing b = 1 in (17) gives us the multiplication theorem (15), for odd a.

We can also use (9) and (10) to expand $f(t) = \frac{2e^{abxt}}{e^{at}+1} \cdot \frac{1+(-1)^{a+1}e^{abt}}{e^{bt}+1}$ as

$$f(t) = \Big(\sum_{m=0}^{\infty} E_m(bx) a^m \frac{t^m}{m!} \Big) \Big(\sum_{m=0}^{\infty} T_m(a) b^m \frac{t^m}{m!} \Big) = \sum_{m=0}^{\infty} \Big(\sum_{k=0}^{m} \binom{m}{k} a^k b^{m-k} E_k(bx) T_{m-k}(a) \Big) \frac{t^m}{m!}.$$

By considering the symmetry of f(t) in a and b, we obtain the following (18) which is an analogue of (7) for the Euler polynomials.

Theorem 2.2 Let a and b be positive integers with the same parity. Then

$$\sum_{k=0}^{m} {m \choose k} a^k b^{m-k} E_k(bx) T_{m-k}(a) = \sum_{k=0}^{m} {m \choose k} b^k a^{m-k} E_k(ax) T_{m-k}(b).$$
 (18)

Theorem 2.3 Let a and b be positive integers, and a be even. Then

$$\sum_{i=0}^{a-1} (-1)^{i+1} a^m \frac{2}{m+1} B_{m+1} (bx + \frac{b}{a}i) = \sum_{i=0}^{b-1} b^m E_m (ax + \frac{a}{b}i).$$
 (19)

Proof Let $g(t) = \frac{2e^{abxt}}{e^{bt}+1} \cdot \frac{1-e^{abt}}{1-e^{at}}$. Then

$$g(t) = \frac{2e^{abxt}}{e^{bt} + 1} \cdot \frac{1 - e^{abt}}{1 - e^{at}} = \frac{2e^{abxt}}{e^{bt} + 1} \cdot \sum_{i=0}^{b-1} e^{ait}$$

$$= \sum_{i=0}^{b-1} \frac{2e^{abxt + ait}}{e^{bt} + 1} = \sum_{i=0}^{b-1} \sum_{m=0}^{\infty} E_m(ax + \frac{a}{b}i)b^m \frac{t^m}{m!}$$

$$= \sum_{m=0}^{\infty} \left(\sum_{i=0}^{b-1} E_m(ax + \frac{a}{b}i)b^m\right) \frac{t^m}{m!}.$$

On the other hand, considering a is even, we have

$$\begin{split} g(t) &= \frac{2e^{abxt}}{e^{bt}+1} \cdot \frac{1-e^{abt}}{1-e^{at}} = -\frac{2e^{abxt}}{e^{at}-1} \cdot \frac{1-(-e^{bt})^a}{1-(-e^{bt})} \\ &= \frac{-2}{at} \frac{ate^{abxt}}{e^{at}-1} \cdot \sum_{i=0}^{a-1} (-e^{bt})^i = \frac{-2}{at} \sum_{i=0}^{a-1} (-1)^i \frac{ate^{abxt+bit}}{e^{at}-1} \\ &= \frac{-2}{at} \sum_{i=0}^{a-1} (-1)^i \sum_{m=0}^{\infty} B_m (bx + \frac{b}{a}i) a^m \frac{t^m}{m!} \\ &= \frac{-2}{at} \sum_{m=0}^{\infty} \sum_{i=0}^{a-1} (-1)^i B_m (bx + \frac{b}{a}i) a^m \frac{t^m}{m!} \\ &= -2 \sum_{m=0}^{\infty} \sum_{i=0}^{a-1} (-1)^i B_m (bx + \frac{b}{a}i) a^{m-1} \frac{t^{m-1}}{m!} \\ &= -2 \sum_{m=0}^{\infty} \sum_{i=0}^{a-1} (-1)^i \frac{1}{m+1} B_{m+1} (bx + \frac{b}{a}i) a^m \frac{t^m}{m!}. \end{split}$$

Equating the coefficients of $\frac{t^m}{m!}$ in the two expressions for g(t) gives us the desired result. \square Putting b=1 in (20) gives us the multiplication theorem (14), for even a.

For a real or complex parameter r, the generalized Euler polynomials $E_n^{(r)}(x)$, with each

being of degree n ($n \ge 0$) in x as well as in r, are defined by means of the following generating function [8]:

$$\sum_{n=0}^{\infty} E_n^{(r)}(x) \frac{t^n}{n!} = (\frac{2}{e^t + 1})^r e^{xt}.$$
 (20)

Theorem 2.4 Let a and b be positive integers with the same parity. Then

$$\sum_{k=0}^{m} {m \choose k} a^k b^{m-k} E_{m-k}^{(r-1)}(ay) \sum_{i=0}^{a-1} (-1)^i E_k^{(r)}(bx + \frac{b}{a}i)$$

$$= \sum_{k=0}^{m} {m \choose k} b^k a^{m-k} E_{m-k}^{(r-1)}(by) \sum_{i=0}^{b-1} (-1)^i E_k^{(r)}(ax + \frac{a}{b}i). \tag{21}$$

Proof Let $h(t) = \frac{2^{2r-1}e^{abxt}e^{abyt}(1+(-1)^{a+1}e^{abt})}{(e^{at}+1)^r(e^{bt}+1)^r}$. Then we can expand h(t) as

$$\begin{split} h(t) &= (\frac{2}{e^{at}+1})^r e^{abxt} \cdot \frac{1-(-e^{bt})^a}{e^{bt}+1} \cdot (\frac{2}{e^{bt}+1})^{r-1} e^{abyt} \\ &= \sum_{i=0}^{a-1} (-1)^i (\frac{2}{e^{at}+1})^r e^{abxt+bit} \cdot (\frac{2}{e^{bt}+1})^{r-1} e^{abyt} \\ &= \sum_{i=0}^{a-1} (-1)^i \sum_{m=0}^{\infty} E_m^{(r)} (bx + \frac{b}{a}i) a^m \frac{t^m}{m!} \sum_{m=0}^{\infty} E_m^{(r-1)} (ay) b^m \frac{t^m}{m!} \\ &= \Big(\sum_{m=0}^{\infty} \sum_{i=0}^{a-1} (-1)^i E_m^{(r)} (bx + \frac{b}{a}i) a^m \frac{t^m}{m!} \Big) \Big(\sum_{m=0}^{\infty} E_m^{(r-1)} (ay) b^m \frac{t^m}{m!} \Big) \\ &= \sum_{m=0}^{\infty} c_m \frac{t^m}{m!}, \end{split}$$

where by multiplying rule of formal power series

$$c_m = \sum_{k=0}^{m} {m \choose k} a^k b^{m-k} E_{m-k}^{(r-1)}(ay) \sum_{i=0}^{a-1} (-1)^i E_k^{(r)}(bx + \frac{b}{a}i).$$

We may also expand h(t) as

$$h(t) = \left(\frac{2}{e^{bt}+1}\right)^r e^{baxt} \cdot \frac{1 - (-e^{at})^b}{e^{at}+1} \cdot \left(\frac{2}{e^{at}+1}\right)^{r-1} e^{bayt}$$

$$= \sum_{i=0}^{b-1} (-1)^i \left(\frac{2}{e^{bt}+1}\right)^r e^{baxt+ait} \cdot \left(\frac{2}{e^{at}+1}\right)^{r-1} e^{bayt}$$

$$= \sum_{i=0}^{b-1} (-1)^i \sum_{m=0}^{\infty} E_m^{(r)} (ax + \frac{a}{b}i) b^m \frac{t^m}{m!} \sum_{m=0}^{\infty} E_m^{(r-1)} (by) a^m \frac{t^m}{m!}$$

$$= \left(\sum_{m=0}^{\infty} \sum_{i=0}^{b-1} (-1)^i E_m^{(r)} (ax + \frac{a}{b}i) b^m \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} E_m^{(r-1)} (by) a^m \frac{t^m}{m!}\right)$$

$$= \sum_{m=0}^{\infty} c_m \frac{t^m}{m!},$$

where $c_m = \sum_{k=0}^m {m \choose k} b^k a^{m-k} E_{m-k}^{(r-1)}$ (by) $\sum_{i=0}^{b-1} (-1)^i E_k^{(r)} (ax + \frac{a}{b}i)$. That is, h(t) is symmetric

in a and b, so is c_m . Equating the two expressions for c_m gives the identity of the theorem. \square

3. Some identities for the power sum and Genocchi numbers

Theorem 3.1 Let a and b be positive integers with the same parity. Then

$$\sum_{k=0}^{m} {m \choose k} G_k a^k b^{m-k+1} T_{m-k}(a) = \sum_{k=0}^{m} {m \choose k} G_k b^k a^{m-k+1} T_{m-k}(b).$$
 (22)

Proof Let $f(t) = \frac{2abt}{e^{at}+1} \cdot \frac{1+(-1)^{a+1}e^{abt}}{e^{bt}+1}$. Then

$$f(t) = \frac{2abt}{e^{at} + 1} \cdot \frac{1 - (-e^{bt})^a}{e^{bt} + 1} = \frac{2abt}{e^{at} + 1} \cdot \sum_{i=0}^{a-1} (-e^{bt})^i$$

$$= \sum_{i=0}^{a-1} (-1)^i b \frac{2at}{e^{at} + 1} e^{bit} = \sum_{i=0}^{a-1} (-1)^i b \left(\sum_{m=0}^{\infty} G_m a^m \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} (bi)^m \frac{t^m}{m!}\right)$$

$$= \sum_{i=0}^{a-1} (-1)^i b \sum_{m=0}^{\infty} \left(\sum_{k=0}^m \binom{m}{k} G_k a^k (bi)^{m-k}\right) \frac{t^m}{m!}$$

$$= \sum_{m=0}^{\infty} \left(\sum_{k=0}^m \binom{m}{k} G_k a^k b^{m-k+1} \sum_{i=0}^{a-1} (-1)^i i^{m-k}\right) \frac{t^m}{m!}$$

$$= \sum_{m=0}^{\infty} \left(\sum_{k=0}^m \binom{m}{k} G_k a^k b^{m-k+1} T_{m-k}(a)\right) \frac{t^m}{m!}.$$

Since $(-1)^{a+1} = (-1)^{b+1}$, the expression for $f(t) = \frac{2abt}{e^{at}+1} \cdot \frac{1+(-1)^{a+1}e^{abt}}{e^{bt}+1}$ is symmetric in a and b. Therefore, we obtain the following power series expansion for f(t) by symmetry: $f(t) = \sum_{m=0}^{\infty} (\sum_{k=0}^{m} {m \choose k} G_k b^k a^{m-k+1} T_{m-k}(b)) \frac{t^m}{m!}$. Compairing the coefficients of $\frac{t^m}{m!}$ in the two expressions for f(t), we get the desired result (22). \square

Since $T_0(1) = 1$, and $T_k(1) = 0$ for all $k \ge 1$, setting b = 1 in (22) will yield (14).

Theorem 3.2 Let m and n be positive integers. Then

$$\sum_{k=0}^{m} {m \choose k} T_k(n) S_{m-k}(n) = 2^m S_m(n), \text{ where } n \text{ is odd},$$
(23)

$$\sum_{k=0}^{m} {m \choose k} T_k(n) S_{m-k}(n) = 2^{m+1} S_m(\frac{n}{2}) - 2^m S_m(n), \text{ where } n \text{ is even.}$$
 (24)

Proof If n is odd, then

$$\left(\sum_{m=0}^{\infty} S_m(n) \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} T_m(n) \frac{t^m}{m!}\right) = \frac{e^{nt} - 1}{e^t - 1} \cdot \frac{(-1)^{n+1} e^{nt} + 1}{e^t + 1}$$
$$= \frac{e^{2nt} - 1}{e^{2t} - 1} = \sum_{m=0}^{\infty} 2^m S_m(n) \frac{t^m}{m!}.$$

By the multiplying rule of formal power series,

$$\left(\sum_{m=0}^{\infty} S_m(n) \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} T_m(n) \frac{t^m}{m!}\right) = \sum_{m=0}^{\infty} \sum_{k=0}^{m} {m \choose k} T_k(n) S_{m-k}(n) \frac{t^m}{m!}.$$

Compairing the coefficients of $\frac{t^m}{m!}$ in the two expressions, we obtain the desired result (23). Similarly, considering

$$\left(\sum_{m=0}^{\infty} S_m(n) \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} T_m(n) \frac{t^m}{m!}\right) = \frac{e^{nt} - 1}{e^t - 1} \cdot \frac{1 - e^{nt}}{e^t + 1} = 2 \frac{e^{nt} - 1}{e^{2t} - 1} - \frac{e^{2nt} - 1}{e^{2t} - 1}$$

$$= 2 \sum_{m=0}^{\infty} 2^m S_m(\frac{n}{2}) \frac{t^m}{m!} - \sum_{m=0}^{\infty} 2^m S_m(n) \frac{t^m}{m!}$$

$$= \sum_{m=0}^{\infty} (2^{m+1} S_m(\frac{n}{2}) - 2^m S_m(n)) \frac{t^m}{m!}$$

for n even, we obtain the result (24). \square

Theorem 3.3 Let m and n be positive integers. Then

$$\sum_{k=0}^{m} {m \choose k} B_k(n) T_{m-k}(n) = 2^{m-1} \left(B_m(\frac{n}{2}) + (-1)^{n+1} B_m(n) \right), \tag{25}$$

$$\sum_{k=0}^{m} {m \choose k} E_k(n) S_{m-k}(n) = 2^m (E_m(n) - E_m(\frac{n}{2})).$$
 (26)

Proof Let $f(t) = \frac{te^{nt}}{e^t - 1} \cdot \frac{1 + (-1)^{n+1}e^{nt}}{e^t + 1}$. Then

$$f(t) = \frac{te^{nt}}{e^t - 1} \cdot \frac{1 + (-1)^{n+1}e^{nt}}{e^t + 1} = \left(\sum_{m=0}^{\infty} B_m(n) \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} T_m(n) \frac{t^m}{m!}\right)$$
$$= \sum_{m=0}^{\infty} \left(\sum_{k=0}^{m} {m \choose k} B_k(n) T_{m-k}(n)\right) \frac{t^m}{m!}.$$

On the other hand,

$$f(t) = \frac{te^{nt} + (-1)^{n+1}te^{2nt}}{e^{2t} - 1} = \frac{1}{2} \sum_{m=0}^{\infty} B_m(\frac{n}{2}) \frac{(2t)^m}{m!} + \frac{(-1)^{n+1}}{2} \sum_{m=0}^{\infty} B_m(n) \frac{(2t)^m}{m!}$$
$$= \sum_{m=0}^{\infty} (2^{m-1}(B_m(\frac{n}{2}) + (-1)^{n+1}B_m(n))) \frac{t^m}{m!}.$$

Equating coefficients of $\frac{t^m}{m!}$ in the two expressions of f(t) yields the identity (25). Similarly, by considering

$$g(t) = \frac{2e^{nt}}{e^t + 1} \cdot \frac{e^{nt} - 1}{e^t - 1} = \left(\sum_{m=0}^{\infty} E_m(n) \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} S_m(n) \frac{t^m}{m!}\right)$$
$$= \sum_{m=0}^{\infty} \left(\sum_{k=0}^{m} {m \choose k} E_k(n) S_{m-k}(n)\right) \frac{t^m}{m!}$$

464

and

$$g(t) = \frac{2e^{2nt} - 2e^{2nt}}{e^{2t} - 1} = \sum_{m=0}^{\infty} E_m(n) \frac{(2t)^m}{m!} - \sum_{m=0}^{\infty} E_m(\frac{n}{2}) \frac{(2t)^m}{m!}$$
$$= \sum_{m=0}^{\infty} (2^m (E_m(n) - E_m(\frac{n}{2}))) \frac{t^m}{m!},$$

we obtain (26). \square

Theorem 3.4 Let m and n be positive integers. Then

$$\sum_{k=0}^{m} {m \choose k} G_k S_{m-k}(n) = 2^m \left(B_m(\frac{n}{2}) - B_m\right). \tag{27}$$

Proof Let $f(t) = \frac{2t}{e^t+1} \cdot \frac{e^{nt}-1}{e^t-1}$. Then

$$f(t) = \frac{2t}{e^t + 1} \cdot \frac{e^{nt} - 1}{e^t - 1} = \left(\sum_{m=0}^{\infty} G_m(n) \frac{t^m}{m!}\right) \left(\sum_{m=0}^{\infty} S_m(n) \frac{t^m}{m!}\right)$$
$$= \sum_{m=0}^{\infty} \left(\sum_{k=0}^{m} \binom{m}{k} G_k(n) S_{m-k}(n)\right) \frac{t^m}{m!},$$

and

$$f(t) = \frac{2te^{nt} - 2t}{e^{2t} - 1} = \sum_{m=0}^{\infty} B_m (\frac{n}{2}) \frac{(2t)^m}{m!} - \sum_{m=0}^{\infty} B_m \frac{(2t)^m}{m!}$$
$$= \sum_{m=0}^{\infty} (2^m (B_m (\frac{n}{2}) - B_m (n))) \frac{t^m}{m!}.$$

Equating coefficients of $\frac{t^m}{m!}$ in the two expressions of f(t) yields the identity (27).

References

- [1] GRAHAM R, KNUTH D, PATASHNIK O. Concrete Mathematics [M]. Addison-Wesley Publishing Company, Advanced Book Program, Reading, MA, 1989.
- [2] TUENTER H J H. The Frobenius problem, sums of powers of integers, and recurrences for the Bernoulli numbers [J]. J. Number Theory, 2006, 117(2): 376–386.
- [3] DEEBA E Y, RODRIGUEZ D M. Stirling's series and Bernoulli numbers [J]. Amer. Math. Monthly, 1991, 98(5): 423–426.
- [4] GESSEL I. Solution to problem E3237 [J]. Amer. Math. Monthly, 1989, 96: 364-364.
- [5] HOWARD F T. Applications of a recurrence for the Bernoulli numbers [J]. J. Number Theory, 1995, 52(1): 157–172.
- [6] TUENTER H J H. A symmetry of power sum polynomials and Bernoulli numbers [J]. Amer. Math. Monthly, 2001, 108(3): 258–261.
- [7] YANG Shengliang. An identity of symmetry for the Bernoulli polynomials [J]. Discrete Math., 2008, 308(4): 550-554
- [8] SRIVASTAVA H M, PINTÉR Á. Remarks on some relationships between the Bernoulli and Euler polynomials
 [J]. Appl. Math. Lett., 2004, 17(4): 375–380.